EARAROBREBRT —5 XN—ZXBISH—F

20235108248 (X) mlEEm6H

Edoroy—8R ¥5%—KOP

‘(fﬁ} W ‘I%EH?’JFE‘?] | 5 1000 7=

[AE%] 17%:1,200,000 F ~ 27&:420,000 @  37&:240,000 3 ~ 43&:156,000 @ 5 7&:84,000 F

FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
477"‘/7\_5 P B 7 ga;ﬁ%ﬂﬁi 1:(3_7).0 1-1 37.7| - 2 (i?g) g;ﬁg% KR
RiIAYYTSwya B:AIWEFTVFYR NEAZAIw b
Z—)S—T T H— 8 %!S?E 1:(347).6 32 380 - | 3 (ﬁ?) %%EE (BEFE)
RiF4—TAVNT N BiA—YLTTH— J=YYT7—L
>~ o6 | ROB— 1:39.8 2-3 40.2| - 4 | 483 | FE=E (KR
Q\j:'g;‘y/99'fi~“ B:E27TU—t o0 S CUN - S
X ,(:/ IAFt v 6 ggi%ré (11;410/.21) 5-4 3930 — 5 (ﬁ.) gﬁgig (BEFE)
R:Id=ILRYwT B:TFUVEITIV— =]
5l5|5|7 Jbb‘_l\'j i 6 Eg%?é’ 1:(4112».7 4-5 fno9| - 1 (5:20) Eggz ((23553)
RiW—=>—vwF B:RyF7«4IY F—U— - Iv I\ - T7—LERR
61111 |¥v—0Ov cO—X i g%zs 1:2‘93)'1 &6 a - 6 (ﬁ:) %%%E &
RPN/ OSYY B:F9RAIO-R HRAH PIU—LTr—L
@ 1—F—&BIE(I
1J—3—
20—7F—
30—3— 3,4,2,5,6,1
4J—F— 3,2,4,6,5,1
[ BN
BB 3 20| | 94K 2-3 150 F5 EE 2-3 530M9 3EE 2-3-4 1,070/
BB 3 120/ 3-4 3004 o= 3-2 830 3iEH 3-2-4 3,560M
2 120M 2-4 3004

ABIC OV TRUTEREERRODDZE. THRIIZEL.




